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YA — TIq U

( GEOGRAPHY — First Paper )
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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. SRieneff gdgem o9 9 99 W AHih siferda: fag |
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. UH U & fe<t 9 it ®UR # fordt R &t Ffe / o / fadeny® TR W
et 9T & I I Wl A |
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.

3. Ol T H e | TRA %Ak 22 @ 23 H Sfafe fosed ©
All the questions are compulsory. There is internal choice in Question
Nos. 22 and 23.

4. TH G H IW S T ST § & fad |

Write the answer to each question in the given answer-book only.

5. 59 999 & T § Aferes TUM i 9t 9 €, 39 94t 9T 1 T TH Y gaq
ford |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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6. THHEN 29 5T® A TYEIEF T § 5h Tos IW AN 20 U=l H,
3 S 69 13 T Ydeh ST NI 30 Vsl H, U HE&1 149 21 0% TIs
I TN 50 T B q YT &N 22 ¥ 24 IF TAF I AN 3 YEI H

IS

Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each, Question
Nos. 14 to 21 in 50 words each and Question Nos. 22 to 24 in
3 pages each.

7. U HHH 1% IR 9N (i, ii, il d iv) § | TH% 9 & I & IR faemey
(3, & @Ud g) T | WEl foehed o1 STNeR STR-Yhre! # @R drferes
ERIETOIGIE IR

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9+ shHich W ST ohT TSR
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (iii)
1. (iv)

1. () 9Rd % &R YT & YBTE! STl W i 9 el TR H9 e ©
(31) foom (&) Huer
(|) = (¥) e |

The shifting cultivation practised in hilly slopes of Bastar region

of India is known as

(A) Dippa (B) Penda
1
(C) Chena (D) Ladang. 5
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() T IR S HES i ¥ gefed §, €
(31) EHIEA i () & i
(w) fafwan e () Yq-eAepfd foaam |

The branch related to human Geography is

(A) Resource geography (B) Bio-geography

(C) Medical geography (D) Geomorphology. %
(i) RT H1 IAfaEITEF TR §

() e (9) SR

(W) wEw (x) fadgmg |

Prehistoric town of India is

(A) Ayodhya (B) Jalandhar

(C) Madurai (D)  Chittorgarh. 5

(iv) TR, S 9IRG 1 Gt T ST HT AT F A9 F A @R, T

(31) TR (@) faweht

(F)  hIcTRT () ==

The city known as the capital of Cotton Textile industries of
India, is

(A) Mumbai (B) Delhi

(C) Kolkata (D) Chennai. %

2. fova &t a1 smEEn &1 fha gfaea st Mg o fram & € 2

What is the percentage of the total population of the world living in the

. 1
northern hemisphere ? =

2
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3. fowmasfa <ol # o 9Rees AF fEi 35 R0 SUas" FH A R T
STARARL T H13 1 H ey, |

Name any one international organization which provides loan for

. : . . 1
constructing surface transport routes in developing countries. 5

2
4. ufyrn ¥ SgEen & e gfg % foau swerht #E @ s fafau |

Write any two factors responsible for the rapid growth of population in

. 1 1 1
Asia. T+t1T =3

5. oM R fava & fA S memrRl B Sed § 2

Which two oceans of the world are connected by the Panama Canal ?

1+1 1
4 4 T2

6. PR U o his IR I ST |

Give any four examples of Cottage industries. 4 x

7. HF9 fow™ ga@ie ot A & fau sTEm Hohas o1 94 fafan |

Write the formula of dimension index to calculate Human Development

Index. 1

8.  wlfcash qun 31eMfeaeh WSl H TR 9aEU | Yeh i Ueh 3q8L0 gifely |

Distinguish between metallic and non-metallic minerals. Give one

1 1 1
example of each. g +gx +t7 =1

9. iyl ufyraE Ui geam 99 & fh=sl IR ues <9 & W fafay |

Write the names of any four member countries of the South Asiatic
Association of Regional Co-operation. 4 x % =1

10. 'SR 1 FB FAYA WAl B Gfd 3H W E AN @G 7 1" =R & R
Il Rl ST AT |

“Trading is possible only on fulfilment of some basic conditions of

1 1
+= =1

trade.” Mention any two conditions of trade. )
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11. ORI ¥ da 9iged ¥q fasrE s arelt 9159 aeal &l &Ro 9 99H & fag #@an
IU fRa ST ® 2 ((FE TH )

What measures are taken up for preventing the pipelines laid inside

oceans for oil transportation from getting being eroded ? ( any one )

1
12. AR AFTHT HiT H IR M arel fh=l 9r wFal & =9 fafan |
Name any four crops grown in commercial plantation tillage.
4xp =1
13. H9R i Thed 9ol 1 AT ST |
Explain the Fax service of communication. 1

14. o SIfeerdl & fosema § aues fe=l < TaEsl ol THesEy |

Explain any two problems hampering the development of rural

settlements. 1+1=2

15. <A & henfie fowm iR fomar & foau Swerht #E 9k 7 #Re 9dET |

Write any four main factors responsible for the industrial development

and expansion of London. 4 x % =2

16. TS T8 k1 AMifehd L@if=s IR |

Draw a labelled sketch of the Suez Canal. 2

17. eferan qegia 1 Yar wmfes st fafmio SE & S & g9y |

Draw a sketch map of Australia and show two areas of manufacturing

industries. 1+ % + % =2
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18. Efeed 7 #AHa yiiad & fowa &3 ¥ "y gfafshaneti & st foha AMeta

SRS a1 Yarsii il Giwferd fora & 2 ( S 313 )

Which human needs and services have been included in the scope of

human geography by Huntington under human responses ?

( any eight ) Sx% =2
19. RMEA TaH UERAT i sTrge fafe=l st g sifve |
Compare the hunting methods of Bushman and Eskimo. 1+1=2

20. 3R fordlt < T T SHES HT 60% § TUH Fg g a7 1 &I, o 39 T &
aTIfefer fershTe OX SEhT SR YTl TR 2 ( WIS @)

If more than 60 per cent of the total population of a country belongs

to the old age group, what will be its impact on economic development

of that country ? ( any two ) 1+1=2
21. ‘‘fava =t Seig <t wifedi § we@ SEEn U W ® 1 RUd &) e U

IS0 Higd HiST |

“Dense population is found in alluvial river valleys of the world.”

Explain the statement giving an example. 1 % + % =2
22. TR TEH A9 & TG GEl i fhgl s fomiuanedi w1 qermrens foaao g&qd

Hiq |

3UAT

SEE T GRSl o WHIEM ¥ i 316 g e |

Give a comparative account of any eight characteristics of Asian and

European human agglomerations. 8 x % =4
OR
Give any eight suggestions to solve population problems. 8 x % =4
SS—14-1—Geog. I

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

7
23. dcUMEl o1 v f=ifera wivenl & A=<7d Sifaq

(i SIUR H Hed

(i) oo & fuits w |

SR

fava § st wot aftere 1 avie freifera el & etia it

() forrommd
(i) SYEINTCT ! GHIfad T el SR |
Describe seaports under the following heads : 1+3=4
(i) Importance in trade
(ii) Determining factors for development.
OR
Describe inland waterways in the world under the following heads :
1+3=4

(i) Characteristics

(ii) Factors affecting the utility.

24. fovg ¥ fafmio 3ol &1 saftafd way fawm & gafaq &0 a diifas

I &1 g8 faao AT |

Give a detailed account of geographical factors affecting the
localisation and development of manufacturing industries in the

world. 4
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